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SECTION - I (ENGLISH VERSION)

There are 100 questions and all the questions are compulsory.

The term 'National Income' represents :
(A) Gross National Product at market prices minus depreciation.

(B) Gross National Product at market prices minus depreciation plus net factor income
from abroad.

(C) Gross National Product at market prices minus depreciation and indirect taxes plus

subsidies. :
(D) Gross National Product at market prices minus net factor income from abroad.
Who is the father of Economics ?
(A) Adam Smith (B) Carl Marx
(C) Robert Higgs (D) John Hicks

A Rolling plan refers to a plan which : _ &.
(A) Does not change its target every year &

(B) Changes its allocation every year @
¥

(C) Changes its allocation and target eye:
.
(D) Changes only its target every ye

BN

2
ewife

Disguised employment refers to
(A) A person with no job

(B) Unemployment am
(C) Unemployment people above 60 years of age
(D) Employment ore persons in a job which lesser number of person can

accomplish.

Who wrote the book "War and Peace' ?
(A) Charles Dickens (B) Leo Tolstoy
(C) Mahatma Gandhi (D) Churchill

Which one of the following personalities is known as "Grand old man of India" 9
(A) Bala Gangadhar Tilak (B) Lala Lajpat Rai
(C) Dadabhai Naoroji (D) Motilal Nehru
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(A) Smash (B) Jab
(©)  Drop (D) Hole
3 Which of the following was Satyajit Ray associated with ?
(A) Classical music (B) Commercial art
(C)  Film direction (D) Classical dance
9 Who declared that his ultimate aim was to wipe every tear from every eye ?
(A) Rajendra Prasad (B) Sardar@ ;
(C) Jawaharlal Nehru (D) Ma Gandhi
10 The most famous dance of Karnataka 15 3
(A) Kuchipudi & Bharatanatyam
(C) Yakshagana | (D) None of the above
11  The South-Western Railwa@ with headquarter at Hubli, came into existence on :
(A) April 1, 2003 é (B) April 1, 2004
(C) March 15, 20 ¢ ' (D) March 5, 2002
12 A group is called :
(A) Flock (B) Herd
(C) Pride ' (D) Gang
13 Which one of the following awards is given to those eminent coaches of any
particular sport ?
(A) Arjuna Award (B) Dronacharya Award
- .
(C) Dhyanchand Award . (D) Rajiv. Gandhi Khel Ratna Award

Which of the following terms is used in 'Boxing' ?

SL/6114 B | 12
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14

16

17

18

19

20

Which one of the following gases is commonly used as disintectant in drinking water ”
(A) Fluorine (B) Oxygen
(C) Hydrogen (D) Chlorine

Which one of the following is used as artificial, low caloric sweetenng agent i
food items ?

(A) Aspartame (B) Fructose

(C) Sucrose (D) Galactose

Which one among the following is the lightest metal ?

“(A)  Aluminium (B) Lithium

(C) Mercury | (D) Silver

Which one of the following statements is correct in respect of‘®'ormn satetitte
(A) Tt moves in a plane containing the Greenwich merid

(B) It moves in a plane perpendicular to the celestal g€fugterial plane.
(C) Tts height above the Earth's surface is about the sa s the radius of the barth.
(D) Tts height above the Earth's surface, is abot ix "times the radius of the Earth.

The solar eclipse occurs when : K
(A) The sun comes between the %@:e Earth
(B) The Earth comes between th x nd the Moon
(C) The Moon comes betwee@n and the Earth

(D) None of the above 6

.
ed in parallel have equivalent resistance of 3 ohm. When

t, the net resistance is 12 ohm. What is the resistance of

Two resistances when
one of the resistangy
(removed) burnt
(A) 16 ohm

(C) 12 ohm

(B) 8 .ohm
(D) 4 ohm

The cooking of food takes much time on the hills than in the plains. due to :

(A) In the hills the humidity is high and therefore a lot of heat is absorbed by the
atmosphere leaving very little heat for cooking.

(B) In the hills atmospheric density is low and therefore a lot of heat is lost to the
atmosphere. .

(C) Due to low atmospheric pressure on the hills, the water boils at a temperature igher
than 100°C and therefore water takes longer time to boil.

(D) In the hills the atmospheric pressure is lower than that in the plains and therefore
water boils at a temperature lower than 100°C causing an increase in cooking lime.
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: ; here 1s called a5 .
21 A device used to measure the amount of moisture in the atmosp as .
(A) H}’drometer (B) Hygrometer
(C)  Anemometer (D) Barometer
22 Which one of the following is the unit of activity of a radioactive source ?
(A) Lux (B) Becquerel
(©) Tesla (D) Siemens
23 Which vitamin is abundant in the citrus fruits ? O@
(A) Vit. A @) G
©) Vit C Nt o
@ it.
24 Which vitamin is provided by Shal che body 9
Vi L & \Q\ B) Vit B
- l -
© Vit. C &
D) i
. ) it. D
2S5 What are Rubie “ahd S : ;
apPInres chemically known a5 o
(A) Sili xide
B)  Alumjp;
Nium :
(C) Lead tetroxide s xtde
2 Boron Nitride -
26 The average age of a class of 27 students 2
the teacher's age is also includ > =1 years h
ed ] ¢ e |
| What g the g iy AVerage INCreases by 1 wher
(A) 40 years € teacher 9
B) 44
(C) 43 vyears £
D) 44 .
SL/6114_B | years
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27 A Money Bill in the parliament can be introduced only with the recommendation

of the :
(A) President of India (B) Prime Minister
(C) Cabinet Minister (D) Union Finance Minister

28  The Electoral college that elects the Vice - President of India consists of :
(A) Members of Rajya Sabha and the Legislative Assemblies of States
(B) Members of both the houses of Parliament

(C) Elected members of both the houses of Parliament

(D) Members of Rajya Sabha only @

29 When can the Speaker exercise hls right to vote in the lb
(A) Whenever his party directs (B) . Wh e House desires

(C) Whenever he desires (D) (% e event of equallty of votes

30 Which of the following states has the J@sentaﬂon in the Lok Sabha ?
\t)

Uttar Pradesh

(A) Madhya Pradesh Q
6 (D) Andhra Pradesh

(C) Maharashtra

*

31 The power of the Supr rt of India to decide disputes between the Centre and
the States falls underg

(A) Advisory jus (B) Appellate jurisdiction

(C) Original jurisdiction (D) Constitutional jurisdiction
32 What is the system of governance in the Panchayat Raj set up ?
(A) Single tier structure of local self government at the village level.
(B) Two tier syétem of local self government at the village and block level.
Three tier structure of local self government at the village, block and district levels.

(©)
(D) Four tier system of local self government at the village, block, district and State.
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33

34

35

36

37

38

39

If the legislat
on such

(©) For the
(D) All the

’ nt to leg;
Uures of two of more states recommended to the parliame €gislate
& subject witp, fegard to those states
implementation of

. i r
treaties and agreements with foreign powers
above

of the Rajya Sabha is :
(A) The President

(B) The Vice-President
) — Minister (D) Home Mipister

to resign from office, he should a@s his letter of resignation to ;
(A) The Prime Minister (B) Qh) ice-President
The Speaker of Lok Sabha

e %Jhe Chief Justice of India
Who appoints the

U &Eublic Ser_vice Commission 7
(A) The President @

(B)  Prime Minister
(C)  Chairman of UPSC ’&
Which of the following %.QN

(A) Jana Gana Map
(C)  Sare Jahans

members of the

(D) Chier Justice of Supreme Court

ational 'Anthep, 2

(B)  Vande Mataram
ha (D) Jhanda Uncha Rahe Hamary

'Tripitakas' are sacred books of :
(A) Buddhists (B) Hindyg
(C) Jains .

(D) None Of the ahgye
SL/6114 B |
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40

41

42

43

44

45

SL/6114_B |

Green House effeet: means :
(A) Pollution in houses in tropical region
(B) Prevention of Ultra-Violet radiation of Ozone layer

(C) Trapping of solar energy due to atmospheric carbon dioxide

(D) Green plant gardening on terraces of house

The Suez Canal connects the Mediterranean sea with the :

(A) White sea (B) Black sea

(C) Red sea (D) Persian Gulf @

In which of the following places Royal Bengal Tiger is @1 ?

(A) Kaveri delta (B) % 7 delta
(C) Godawari delta %&umdarban delta
L 4

In which one of the following state§ I

(A) Andhra Pradesh 6 B) Kerala

*
(C) Karnataka (D) Tamil Nadu

95% of the wo iamond reserves are found in :
(A) Kolar (B) Ghana
(C) Kimberly (D) Zambia

The people who keep moving from one place to another are called :

(A) Settled @) Tribals
(D) Civilized

17 ARG A A

(C) Nomads

nganthittu Bird Sanctuary located ?
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alled :
; ; . T 1 are Cd
Forests that shed their leaves in a parhculdl secason «

: meen
(A)  Coniferous (B) Evergree

* 1he above
(C) DeCidUOLlS (I)) None of the abc

47 Which 8as constitutes 78% of the atmosphere ?

(A)  Carbon dioxide et (B) Argon

(C)  Oxygen (D) Nitrogen

i nvironment

48 Which one of the following may have alien life because of a very conducive e

to life » @

(A) Jupiter (B) Mars Q

(C) Europa - The Jupiter's moon (D) Mo Earth's moon
49  India's Permanent research station - Dakshi @rl is situated in the :

(A) Great Himalayas Indian Ocean

(C) Antarctica $ (D) Arabian Sea
S0 The density of population 1@51 Per sq. km in 20711 was

(A) 150 ¢ (B) 200

(C) 382 (D) 350
51  When the sup eaches its maximum distance from the €quator, it g known as

(A) Solstice (B) Eclipse

(C)  Equinox (D) Sidereg] day
352 The crop which is sown with the commencement of Monsoon is

(A) Cash crop CORVInEL (Bl (B)  Kharif -

~(€) Rabi crop, (D) None of the above

SL/6114 B | 18
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Who was the first woman film star nominated to Rajya Sabha ?
(A) Nargis Dutt (B) Vyjayantimala

(C) Hema Malini (D) Jayalalita

Who among the following has written the novel 'Mandra' which was awarded prestigious

'Saraswati Samman' recently ?
(A) S. L. Bhyrappa (B) Nirmal Verma

(C) Shrilal Shukla (D) Arun Sadhu

The study of population .is known as : O®

(A) Demography - (B) Climato@
.

(C) Petrology (D) P’W&gy

ASHA is a part of which of the folloW, mes launched by the Govt. of India ?

(A) Bharat Nirman Q (B) National Rural Health Mission

(C) Operation Black Board (D) National Old Age Pension Scheme

*

For sending and recei ata from one to other computers around the world, through

telephone line w
(A) Fax (B) Modem

(C) Processor (D) Hub

Which player won the 'Golden Ball' award in Champions Trophy - 2013 ?
(A) Ishant Sharma ML A 1 (B) Bhuvneswar Kumar,

(C) Ravindra Jadeja (D) Ravichandran Ashwin ‘'

SL/6114_B | 19 TR - 1 Contd...



devicé ?
Which of the following is a read only memory storage

1sk
(A) Floppy disk (B) Hard dis

(C) CD rRoOM (D) Flash drive

e’
80 The first speaker of [ Sabha was :
(A) 8. Radhakrishnan (B) G. V. Mavlankar
©) M. A Ayyangar D) Sardar H@ingh
61

(A) Julian Barnes

&0
% M. Coetzen
(C)  Yann Marta &) V. S. Naipaul

62 Who among the following Ql :

(A)

(B)

(©)

er and Auditor General of India

(D) Attorney General of India

63 The organ most damaged by heavy Consumption of alcohg] i .
(A) Brain L xevnod (g (B) Kidney
(C) Liver (D) Stomach,

SL/ﬁlMﬁB_] ||||||||||||||f||{|||I||I||[III||Ii (1]

Who is the author of the Man Booker Prize winnin@’ok "Life of Pi" ?
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64 Line demarcating the,boundary between India and China is : o5 i
(A) Durand Line (B) Mc Mohan Line

(C) Radcliff Line (D) Strafford Line

65 In which one of the following areas Monsoon climate is found :
(A) Pacific coast of Columbia (B) South-Eastern United States

(C) Southern part of South Africa (D) Central California

66 The red colour of the red soil is due to : O@

(A) Phosphoric acid (B) Humus ()

.
(C) Nitrogen (D) IV&
67 Amaravati, Bhavani, Hemavati and Kﬁ&‘albutaﬁes of which one of the

following rivers ? Q
(A) Mahanadi 6 (B) Godavari

(C) Cauveri ¢ (D) Krishna

68 White Blood

BC), which are responsible for maintenance of immunity of
body, are produ

in which part of the body ?

(A) Tongue (B) Thyroid and Parathyroid glands

(C) Bone marrow and Lymph glands (D) Ductless glands

69  Short-sightedness in the human eye can be corrected by using :

/'i

(A) Concave lens (B) Convex lens
(C) Cylindrical lens ‘ (D) Plain glass
SL/6114_B | 21
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i t of
evere ailmen
ing from a S
: fferin
70 1If a patient is put on dialysis, he is most likely suffering |
the fj‘o'llowing :

tem
iratory SyS
(A) Circulatory system (B) Rt'asgsﬁve ystem
(C)  Excretory system (D) Dig

l?
. below
N hain given

71 What will happen if Deer is missing in the food cha

Grass — Deer — Tiger

(A) The population of Tiger increases
(B) The Population of Grass decreases
(C) The Tiger will start eating grass
(D)

: SS Increases
The population of Tiger decreases and the population of Gra

: . s ?
72 Which one of the following hormones, is produced in ®
(A) Insulin

®) T

(D Inin
Xor

73 Which one of the following is not 1 Ba e@ﬁsease ?

. (A) Tuberculosis

@ B)  Anthrax
(C) Cholera . (D)

Influenza

Carbon, diamond and grap %examples for one of the followin
(A) Allotropes

(©) Isomorphs

(©) Oestrogen

74

(D) Isotopes

gramme ip your cit hi
because : Y- Children are vaccinat
(A)  Vaccinghon kills the polio causing micrq Organismg
(B) Prevent the entry of polig Causing Organismg
©)

It creates immunity in the b

ody
(D) Al the above

76  The Gun metal is com

' gredientg -
(A) Tron, Brass, "Ijm (B) Iron, Tin
(€) Tron, Zinc, Titanjum (D) Copper. Tin
SL/6114_B )
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77

78

79

80

The cost of telephone calls is 40 paise per call for the first 100 calls and 25¢paise for

ol
calls exceeding 100 calls. The bill for a day was Rs. 60. Find the no. of calls made.

(A) 80 (B) 70

(C) 150 (D) 180

(0.03)? +(0.22)* +(0.031)°

(0.003) +(0.022)” +(0.0031)° ) @

(A) 100 (B) 0.0031 ()
(C) 0.003 (D) 1 (5‘\'

L 4 E
A city has a population of 3,00,00 kwhich 1,80,000 are males. 50% of the
population is literate. If 70% of t% les are literate, the number of literate females

Is :

*

(A) 24,000 (B) 30,000

(C) 54,000 (D) 60,000

Ravi is 11 years old and his sister Leela is 24 years old. After how many years will

Leela be twice as old as her brother ?
(A) 4 years (B) » 2 years

(C) 8 years (D) 10 years -
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81 kmph faster, he would hay,

A T d 2 .
Mman covers a certain distance on car. Had he move Id have taken 30 min more

taken 30 min less. If he had moved | kmph slower, he wou
The distance in (km) is
(A) 10 (B) Il

© o D) S

82 Two pPipes can fill a tank in 4 hrs and 8 hrs respectively, while 'thILd “r:q;su;r?;;t;s the
full tank in 10 hrs. If all the threé' pipes operate simultaneously. i 10 k.
tank will be filled ?

4 5
(A) 1 (B) 11
40
<) —

—
—

,
® T3 @

83 If a number is subtracted from the square of its the result is 30. The square
root of the number is :

A) 3 \@’&%
©) 7 | J6
oy

84 A well, 14 m deep, is 2 m in t ~“What is the cost of cementing the inner curved
surface at the rate of Rs. are meter ?
(A) Rs. 352 (B) Rs. 450
(C) Rs. 520 Cb (D) Rs. 600
.
85 Th f + ) + to infinity is
- O — e :
e sum 373 \/5 ¥
3
(A 3 B) 33
5 33
. Lo DY - =
© ©) "=

86 According to the Constitution, which fund will be under the control of the President

of Indla ? unsrl’) \Ci) R
(A) Sta??'s;T_c}?Psg}?dated fig. of Indiz. . {B) Consolidated fund of India
(C) Public provident fund (D) Contingency fund of India
24
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89

90

91

92

93

Harappan Civilization developed on the banks of river :
1 IDIITNE

(A) Indus g (B) Krishna e
(C) Ganga (D) Brahmaputra

The study of the coins is called :
(A) Epigraphy (B')'__',;;f];\lumismatics
(C) Carbon-dating -~ (D) Anthropology

Harshvardhana was defeated by :
(A) Narasimhavarma Pallava (B) Sasanka @
(C) Pulakesin - II (D) PrabhakmO han

Who gave the slogan "You give me blood, I presu Jou freedom" ?

(A) Bhagat Singh & andra Shekhar Azad

(C) Subhash Chandra Bose N l Balgangadhar Tilak
*

With whose permission did tt@?jsh set up their first factory at Surat?

(A) Shahjahan * (B) Aurangzeb
(C) Akbar (D) Jahangir

Where is the ous Virupaksha temple located 2
(A) Srikalahasti | ' (B) Bhadrachalam

(C) Hampi (D) Chidambaram

The leader of the "Young Bengal Movement' was :

(A) Dwarakanath Tagoré (B) Chandra Shekhar Deb
whi 0D (8) sibal 1o bt O2MGY 238l )
(C) Iswar Chandra Vidhya Sagar (D) Henry Viviam Derojio, '

wean Siddn
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_ t from :
In 1939 Mahating Gandhi Started Civil-disobedience movemen
(A Sevagram (B) Dandi !
(©) Sabarma; (D) Wardha
95 Simon (‘.ommlxs:on of' 1927 Was boycotted because
(A)  There Was no Indiay member in the commission
B) 1t Supported the Muslity League
(©) Congress felt that the People of India are entitled to swaraj
(D) There were differenceg among the members
26 Which among the following greq revolutionaries was the fin behind the
Chittagong Armouty Raid" 9
(A) Lala Hardays,) (B) Ch hekhar Azad
(©) Surya Sen (D) angsh Ghosh
’ - - -
97  Who founded the Ramakrishng Mission in to carry on humanitariap relief ang
social work 9 &
(A)  Swam;j Dayanang Saraswatj %
(B) Ramakrishpa Paramahans;,
¢
(C) Swami Vivekananda \
(D) Blavatsky and OfcotQ
98 Which one of the Wihg hills are found where the Eastern Ghats ang the
Western Ghats
(A)  Anamalaj (B) Cardamon, Hillg
(C) Nilgi (D) Shevoroy Hills
99 Which scale is used to measure the intensity of Earthqua’ke 9
(A) Newton (B) Centigrage
(C) Metric (D) Richter
100 The Railway Integral Coach Factory i located 44 :
(A) Chittaranjan 5 (g (B) " Perampy:
(C) Jamshedpur L ¢ (D) Varanag;
SL/6114 B |
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